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QUESTION 1
What advantage do block-based buffer pools offer compared to regular buffer pools?

A. They improve the performance of sequential prefetching by reading contiguous pages from disk and writing them into
contiguous pages in a buffer pool.

B. They improve the performance of random I/O by reading non-contiguous pages from disk and writing them into near-
contiguous free space in a buffer pool.

C. They improve the performance of vectored reads by retrieving non-contiguous pages from disk, combining them into
extent-sized blocks, and writing the blocks into contiguous pages in a buffer pool.

D. They improve the performance of scattered writes by retrieving non-contiguous pages from a buffer pool, combining
them into extent-sized blocks, and writing the blocks into contiguous pages on disk.

Correct Answer: A

QUESTION 2

Which diagnostic tool can be used to show high-watermark consumptions of Fast Communication Manager (FCM)
buffers and channels?

A. db2pd
B. inspect
C. db2dart
D. db2mitrk

Correct Answer: A

QUESTION 3

The following query is executed frequently against the SALES table:

SELECT sales_id, sales_date, sales_person FROM sales;

If data in the SALES_ID column is unique,

Which statement will create an index for optimal query performance and ensure uniqueness of the SALES_ID column?
A. CREATE INDEX sales_idx ON sales (sales_id, sales_date, sales_person)

B. CREATE UNIQUE INDEX sales_idx ON sales (sales_id, sales_date, sales_person)

C. CREATE INDEX sales_idx ON sales (sales_id) INCLUDE (sales_date, sales_person)

D. CREATE UNIQUE INDEX sales_idx ON sales (sales_id) INCLUDE (sales_date, sales_person)
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Correct Answer: D

QUESTION 4

What is a benefit of multi-temperature data storage?

A. It helps reduce redundant I/O.

B. It helps improve data compression ratios.

C. It helps reduce storage costs for infrequently accessed data.
D. It helps identify data access patterns to aid in storage planning.

Correct Answer: C

QUESTION 5

Which monitoring tool can be used to obtain stripe set information for database managed storage table spaces?
A. The MON_GET_CONTAINER table function.

B. The SNAP_GET_TBSP_PART table function.

C. The SNAPTBSP_RANGE administrative view.

D. The TS_GET_CONTAINER administrative view.

Correct Answer: A
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